TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	£	VENDOR #1 Gomez Floor Covering, Inc.	VENDOR #2 Hill Real Estate Development, Inc.	VENDOR #3 JW Smith & Associates
Opening Date: 02-Feb-2012		1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901	4303 S. Bowen Rd., Ste. 121 Arlington, Tx 76016 Ron Hill 817.468.8797	PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951
DESCRIPTION:	Est. Qty.	214.905.1904 fax	817.468.0605 fax	214.821.1651 fax
NCTRCA Certified Vendor	***************************************	Yes	No	No
Certifed By Other Agency		1) Yes - HUB - Certifying Agency: CPA, Certifcation/Registration Number: 1742801036100, Expiration Date: 18-Feb-2014, 2) Yes - MBE/WBE - Certifying Agency: SCTRCA, Certifcation/Registration Number: 211058414, Expiration Date: 31- May-2013	1) Yes - HUB - Certifying Agency: State of Texas, Certification/Registration Number: 1752343405200, Expiration Date: 23-Sep- 2015 2) Yes - MBE - Certifying Agency: NCTRCA, Certification/Registration Number: 20964 Affidavit Number	No
EEO1 Dallas County Taxpayer?	000000000000000000000000000000000000000	Blank No - Bexar County	Yes No - Tarrant County	Yes Yes
Section A: Installation of New Broadloom 12' Roll Carpet Only Installation Method: Installation – Direct Glue Down Price to include labor, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and preparation, adhesives standard leveling, laying, trimming, seaming, stretching, tucking, rolling, transition strip, reducer, carpet edge, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements) Carpet to be provided/furnished by: Dallas County (Do not include the cost of carpet in your installation price).	8	DC website	DC website & Letter from DC	DC website & Email
		Page 1 of 53		

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	F		VENDOR #1 Gomez Floor Covering, Inc. 1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax		VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd., S 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax	Ste.			VENDOR #3 JW Smith & Associate PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax	es	
DESCRIPTION:	Est. Qty.		214.903.1904 lax		817.408.0003 fax				214.821.1031 tax		
1. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	300	sq. yds	S	5.25 \$1,575.00	\$	1.64	\$	492.00	S	5.250	\$1,575.00
2. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	2,000	sq. yds	\$	8.25 \$16,500.00	\$	1.64	\$ 3	3,280.00	S	8.750	\$17,500.00
3. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	400	sq. yds	\$	9.25 \$3,700.00	\$	2.00	\$	800.00	S	8.750	\$3,500.00
4. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	150	sq. yds	S	7.75 \$1,162.50	\$	2.00	\$	300.00	S	6.750	\$1,012.50

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	ŗ		VENDOR #1 Gomez Floor Covering, Inc. 1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax		VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd., S 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax	te.			VENDOR #3 JW Smith & Associate PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax	s			
DESCRIPTION:	Est. Qty.												
5. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	150	sq. yds.	S	7.00 \$1,050.00	S	2.10	\$	315.00	\$	6.750	\$1,01	2.50	
6. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. yds	S	8.25 \$24,750.00	S	9.88	\$ 2	29,640.00	S	9.250	\$27,7	50.00	
7. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. yds.	S	8.75 \$437.50	S	9.88	\$	494.00	S	9.250	\$462.	50	

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	,	VENDOR #1 Gomez Floor Covering, Inc 1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax	·.	VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd., \$121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax	Ste.		VENDOR #3 JW Smith & Associate PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax	s
DESCRIPTION:	Est. Qty.							
Section B: Installation of New Broadloom Modular Carpet Tile Only Installation Method: Installation – Direct Glue Down Price to include labor, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and base preparation, adhesives, standard leveling, laying, trimming, seaming, stretching, tucking, rolling, transition strip, reducer, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements) Carpet to be provided/furnished by: Dallas County (Do not include the cost of carpet in your installation price).								5.500 \$550.00
8. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100 sq. yds	S	5.50 \$550.00	S	2.96 \$	296.00	\$	5.500 \$550.00
9. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet		\$	8.50 \$425.00	\$	11.88 \$	594.00	S	8.500 \$425.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012		VENDOR #1 Gomez Floor Covering, Inc. 1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax		VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd., 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax			VENDOR #3 JW Smith & Associate PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax	s
DESCRIPTION:	Est. Qty.							
10. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		S	9.25 \$462.50	\$	13.12 \$	656.00	S	8.500 \$425.00
11. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet		\$	8.50 \$425.00	\$	10.83 \$	541.50	\$	9.000 \$450.00
12. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	.,	S	9.25 \$462.50	\$	11.15 \$	557.50	s	9.000 \$450.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	ī		1130 In	OR #1 Floor Covering, wood Rd. Fexas 75247	Inc.		VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd., S 121 Arlington, Tx 76016	Ste.		VENDOR #3 JW Smith & Associate PO Box 710206 Dallas, Texas 75371	es	
Sp			Marco 1 214.905	Magdaleno			Ron Hill 817.468.8797 817.468.0605 fax			Wayne Smith 214.707.1951 214.821.1651 fax		
DESCRIPTION:	Est. Qty.											
Section C: Vinyl Composition Floor Tile (VCT), Solid Vinyl Tile (SVT), and Ceramic/Porcelain Tile Price to include labor, tile, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and base preparation, adhesive, grout, standard leveling, laying, trimming, transition strip, reducer, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements)												
13. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	1,000	sq. ft.	\$		1.7	5 \$1,750.00	s	0.53 \$	530.00	s	1.950	\$1,950.00
14. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	12,000	sq. ft.	S		2.0	5 \$24,600.00	\$	2.10 \$	25,200.00	S	2.250	\$27,000.00
15. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	100	sq. ft.	S		2.1	0 \$210.00	\$	2.10 \$	210.00	s	2.350	\$235.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f		VENDOR #1 Gomez Floor Covering, Inc			VENDOR #2 Hill Real Estate Development, Inc.			VENDOR #3 JW Smith & Associate	s		
Opening Date: 02-Feb-2012			1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax			4303 S. Bowen Rd., 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax	Ste.		PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax			
DESCRIPTION:	Est. Qty.											
16. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. ft.	S	2.10	\$6,300.00	S	1.71	\$ 5,130.00	\$	2.250	\$6,750.00	
17. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. ft.	s	2.10	\$6,300.00	s	1.71	\$ 5,130.00	S	2.350	\$7,050.00	
18. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	500	sq. ft.	s	2.00	\$1,000.00	s	1.19	\$ 595.00	s	2.000	\$1,000.00	
19. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	500	sq. ft.	s	1.90	\$950.00	s	1.84	\$ 920.00	s	2.000	\$1,000.00	88888
20. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100	sq. ft.	s	4.50	\$450.00	s	0.98	\$ 98.00	S	1.850	\$185.00	

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f		VENDOR #1 Gomez Floor Covering, Inc. 1130 Inwood Rd.		VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd.,	Ste.		JW S	DOR #3 smith & Associates		
Opening Date: 02-Feb-2012			Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax		121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax			Wayı 214.7	ns, Texas 75371 ne Smith 707.1951 321.1651 fax		
DESCRIPTION:	Est. Qty.										
21. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. ft.	S	4.90 \$245.00	S	2.43	\$ 121.	\$		2.000	\$100.00
22. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. ft.	\$	4.90 \$245.00	S	2.43	\$ 121	50 \$		2.100	\$105.00
23. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	50	sq. ft.	S	4.80 \$240.00	S	2.11	\$ 105	50 \$		2.000	\$100.00
24. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	100	sq. ft.	\$	4.80 \$480.00	S	2.11	\$ 211.	00 \$		2.100	\$210.00
25. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. ft.	\$	4.80 \$240.00	S	1.58	\$ 79.	90 \$		1.950	\$97.50
				Page 8 of 5	2						

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	ī		VENDOR #1 Gomez Floor Covering, Inc.			Develop	al Estate oment, Inc.			VENDOR #3 JW Smith & Associate	s		
Opening Date: 02-Feb-2012			1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax			121 Arlingto Ron Hil 817.468		e.		PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax			
DESCRIPTION:	Est. Qty.												
26. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	50	sq. ft.	S	4.75	\$237.50	\$	1	1.26	\$ 63.00	S	1.950	\$97.50	
27. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100	sq. ft.	S	6.50	\$650.00	\$	2	2.73	\$ 273.00	S	6.500	\$650.00	
28. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	1,500	sq. ft.	S	6.90	\$10,350.00	\$	2	4.15	\$ 6,225.00	s	6.750	\$10,125.	00
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:			S	1.40	\$1.40	S	1	1.32	\$ 1.32	S	1.000	\$1.00	
29. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	100	sq. ft.	S	6.90	\$690.00	\$	2	4.15	\$ 415.00	\$	6.850	\$685.00	
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:			S	1.40	\$1.40 Page 9 of 5	\$ 3	1	1.32	\$ 1.32	S	1.000	\$1.00	

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f		VENDOR #1 Gomez Floor Covering, Inc.			VENDOR #2 Hill Real Estate Development, Inc.	G.		VENDOR #3 JW Smith & Associates	3	
Opening Date: 02-Feb-2012			1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax			4303 S. Bowen Rd., 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax			PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax		
DESCRIPTION:	Est. Qty.										
30. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	500 sq.	ft.	\$	6.80	\$3,400.00	s	3.82	\$ 1,910.00	\$	6.850	\$3,425.00
31. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	•	ft.	\$	6.80	\$3,400.00	s	3.57	\$ 1,785.00	s	6.950	\$3,475.00
32. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	100 sq.	ft.	\$	6.75	\$675.00	s	3.57	\$ 357.00	s	6.500	\$650.00
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:	,		\$	1.40	\$1.40	\$	1.32	\$ 1.32	s	1.000	\$1.00
33. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	100 sq.	ft.	s	6.65	\$665.00	s	2.96	\$ 296.00	s	6.500	\$650.00
Manufacturer Brand and Series of the VCT Being Proposed:			Armstrong, Azrock, Manning	ton		No Comments/No Response			Armstrong, Manningto Commercial	n -	
					Page 10 of 5	3					

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f		VENDOR #1 Gomez Floor Covering, Inc			VENDOR #2 Hill Real Estate Development, Inc.			VENDOR #3 JW Smith & Associat	es		
Opening Date: 02-Feb-2012			1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax			4303 S. Bowen Rd., 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax			PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax			
DESCRIPTION:	Est. Qty.											
Manufacturer Brand and Series of the SVT Being Proposed:			Armstrong			No Comments/No Response			Armstrong			
Manufacturer Brand and Series of the Ceramic/Porcelain Tile Being Proposed			American Olean/Dal-Tile			No Comments/No Response			Dal-Tile			
Section D: Miscellaneous and Repair Services - To be performed as needed/as requested by Dallas County Pricing should include the cost of all labor, preparation, materials, supplies, parts, tools, equipment, etc. required to complete job, unless otherwise stated.												
34. Additional Floor Preparation Work (outside standard prep work for carpet and tile) Price to include all material and labor required to install Type: Skim Coat or Feather Finish and covering old adhesives and ridges to provide a smooth and flat surface. Ardex Feather Finish, Chemrex or approved equal	50	bags	\$	40.00	\$2,000.00	\$	47.00 \$	2,350.00	s	15.000	\$750.00	
Manufacturer Brand and Series Being Proposed:			Ardex Feather Finish			Ardex			Ardex			
35. Additional Floor Preparation Work (outside standard prep work for carpet and tile installation) Price to include all material and labor required to install Type: Floating Self Leveling, skimming and covering old adhesives and ridges to provide a smooth and flat surface. Ardex Self Leveling, Chemrex or approved equal	50	bags	S	75.00	\$3,750.00	\$	47.00 \$	2,350.00	s	30.000	\$1,500.00	
Manufacturer Brand and Series Being Proposed:			Ardex K-15						Ardex			
36. Additional Floor Preparation Work Installation of New Sub-Floor (as needed) Grade C or better	7											
Type: 1/4" Plywood sub-floors	5	each	\$		\$150.00	\$	13.00 \$	65.00	300	7.000		
Type: 3/8" Plywood sub-floors Type: 1/2" Plywood sub-floors	5 5	each each	\$ \$		\$175.00 \$200.00	\$ \$	19.00 \$ 23.00 \$	95.00 115.00		7.500 8.000		
		•••			Page 11 of							

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f	***************************************	VENDOR #1 Gomez Floor Covering, Inc. 1130 Inwood Rd.				VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd	1 Sto			VENDOR #3 JW Smith & Associate PO Box 710206	es	
Opening Date: 02-Feb-2012		***************************************	Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax				4303 S. Bowell Rd 121 Arlington, Tx 7601 Ron Hill 817.468.8797 817.468.0605 fax	,			Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax		
DESCRIPTION:	Est. Qty.	****											
Type: 3/4" Plywood sub-floors Price to include all material, prep work, removal of existing sub-floor and labor required to install	5	each	\$	45.00	\$225.00		\$	33.00	\$	165.00	\$	8.500	\$42.50
37. Additional Floor Preparation Work Installation of New Sub-Floor (as needed)	v												
Type: 1/4" Concrete backer board sub-floors Type: 3/8" Concrete backer board sub-floors Type: 1/2" Concrete backer board sub-floors Type: 3/4" Concrete backer board sub-floors Price to include all material, prep work, removal of existing sub-floor and labor required to install	5 5 5 5	each each each each	\$ \$ \$ \$ \$	35.00 40.00	\$150.00 \$175.00 \$200.00 \$225.00		\$ \$ \$ \$	67.00 76.00 101.00 134.00	\$ \$	335.00 380.00 505.00 670.00	\$ \$ \$ \$	11.500 12.000	\$55.00 \$57.50 \$60.00 \$62.50
Manufacturer Brand and Series Being Proposed for the Concrete Backer Board:			Hardy Backer				Florcore				Hardi-Board		
38. New 4" Cove Base Only - Price to include all labor, material, supplies, and prep work required to install	1,000	linear ft.	\$	1.05	\$1,050.00		\$ P	1.74	\$	1,740.00	\$	1.250	\$1,250.00
Manufacturer Brand and Series Being Proposed:			Flexco, Armstrong, Roppe				Roppe				Roppe or Burke		
39. New 6" Cove Base Only - Price to include all labor, material, supplies, and prep work required to install	100	linear ft.	\$	1.45	\$145.00		\$	2.21	\$	221.00	\$	1.500	\$150.00
Manufacturer Brand and Series Being Proposed:			Flexco, Roppe				Roppe				Roppe or Burke		
40. Additional Charge (if any) for Diamond, Circle or Curve Pattern Design on VCT and SVT Tiles			.15/sq. ft.		\$0.15		.13/sq. ft.		\$	0.13	.10/sq. ft.		\$0.10
41. Additional Charge (if any) for Diamond, Circle or Curve Pattern Design on Ceramic/Porcelain Tile		***************************************	.60/sq. ft.		\$0.60		.34/sq. ft.		\$	0.34	.50/sq. ft.		\$0.50
42. New Vinyl Reducer only - Price to include all labor, material, supplies, and prep work required to install			3.00/linear feet		\$3.00		2.47/linear feet		\$	2.47	1.00/linear feet		\$1.00
Manufacturer Brand and Series Being Proposed:			Roppe/Johnsonite				Roppe				Burke		
43. New Transition Strips only - Price to include all labor, material, supplies, and prep work required to install	ı		3.00/linear feet		\$3.00		3.57/linear feet		\$	3.57	1.00/linear feet		\$1.00 \$1.00
Manufacturer Brand and Series Being Proposed:			Roppe/Johnsonite				Schlvter				Burke		
					Page 12 of 5	53							

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f	VENDOR #1 Gomez Floor Covering, Inc.		VENDOR #2 Hill Real Estate Development, Inc.		VENDOR #3 JW Smith & Associates	
Opening Date: 02-Feb-2012		1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax		4303 S. Bowen Rd., Ste. 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax		PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax	
DESCRIPTION:	Est. Qty.		8				
44. New Carpet Edge only - Price to include all labor, material, supplies, and prep work required to install		4.00/linear feet	\$4.00	3.57/linear feet	\$ 3.5	57 1.00/linear feet	\$1.00
Manufacturer Brand and Series Being Proposed:		Roppe/Johnsonite		Schlvter		Burke	
45. New Stair Nosing only - Price to include all labor, material, supplies, and prep work required to install		11.00/linear feet	\$11.00	4.83/linear feet	\$ 4.5	33 16.00/linear feet	\$16.00
Manufacturer Brand and Series Being Proposed:		Roppe		Roppe		Burke	
46. New Vinyl Stair Treads at least 12 – 1/4" deep only - Price to include all labor, material, supplies, and prep work required to install		12.00/linear feet	\$12.00	27.00/linear feet	\$ 27.0	00 15.50/linear feet	\$15.50
Manufacturer Brand and Series Being Proposed:		Roppe		Roppe		Burke	
47. New Rubber Stair Treads at least $12 - 1/4$ " deep only: Price to include all labor, material, supplies, and prep work required to install		16.00/linear feet	\$16.00	36.00/linear feet	\$ 36.0	00 16.00/linear feet	\$16.00
Manufacturer Brand and Series Being Proposed:		Roppe/Johnsonite		Roppe		Burke	
48. Carpet Stretching - Price to include all labor, material supplies, and prep work required to perform these services		5.00/sq. yd.	\$5.00	1.26/sq.yd.	\$ 1.3	26 6.00/sq. yd.	\$6.00
49. Replace Carpet Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Carpet to be furnished by Dallas County)	è	7.00/sq. yd.	\$7.00	1.28/sq. yd.	\$ 1.3	28 5.25/sq. yd.	\$5.25
50. Repair/Replace Marble Tile Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Marble Tile to be furnished by Dallas County)		4.00/sq. ft.	\$4.00	1.52/sq. ft.	\$ 1.:	52 5.00/sq. ft.	\$5.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f	X X X X X X X X X X X X X X X X X X X	VENDOR #1 Gomez Floor Covering	g, Inc.		VENDOR #2 Hill Real Estate Development, I			VENDOR #3 JW Smith & Associa	tes	
Opening Date: 02-Feb-2012			1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax			4303 S. Bower 121 Arlington, Tx 7 Ron Hill 817.468.8797 817.468.0605 f	6016		PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax		
DESCRIPTION:	Est. Qty.										
51. Repair/Replace Terrazzo Tile Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Terrazzo Tile to be furnished by Dallas County)			4.00/sq. ft.		\$4.00	NA			5.00/sq. ft.		\$5.00
52. Removal of existing vinyl tile flooring, base, reducer strips, transition strips and stair tread (only).			1.00/sq. ft.		\$1.00	.34/sq. ft.	\$	0.34	1.00/sq. ft.		\$1.00
53. Removal of existing carpet, base, reducer strips transition strips and stair tread (only).			1.00/sq. yd.		\$1.00	1.76/sq. yd.	\$	1.76	4.50/sq. yd.		\$4.50
54. Disassembly and Reassembly of Modular Furniture	50	hours	\$	90.00	\$4,500.00	\$	45.94 \$	2,297.00	\$	100.000	\$5,000.00
55. Labor Rate for Removal and Replacement Of Office and/or Classroom Furniture Only	50	hours	\$	90.00	\$4,500.00	\$	53.00 \$	2,650.00	\$	100.000	\$5,000.00
56. Labor Rate for Floor Covering Services not specified under this contract	50	hours	\$	90.00	\$4,500.00	s	46.00 \$	2,300.00	\$	100.000	\$5,000.00
57. Minimum Service Charge for any Flooring Service - Note: Dallas County will pay the minimum service charge fee or unit price for each service request whichever is greater (but not both)	150	each	\$	200.00	\$30,000.00	S	131.00 \$	19,650.00		200.000	\$30,000.00
58. Parts, Supplies and Materials – Markup: Only applicable to parts, supplies and materials not specified under this contract and not part of standard floor preparation and installation services in accordance manufacturer guidelines as stated in the bid requirements. No other additional costs and/or surcharges of any kind will be allowed.											
Total Estimated Dollar Amount: \$2,000.00		× × × × × × × × × × × × × × × × × × ×									

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #1 Gomez Floor Covering, Inc.		VENDOR #2 Hill Real Estate Development, Inc.		VENDOR #3 JW Smith & Associates	
Opening Date: 02-Feb-2012		1130 Inwood Rd. Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax		4303 S. Bowen Rd., Ste. 121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax		PO Box 710206 Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax	
DESCRIPTION:	Est. Qty.						
Contractor Cost plus + Mark-up (to include overhead and profit): % Note: A copy of the actual Contractor's invoice(s) from his/her supplier for such parts, supplies and materials shall a submitted with the Contractor's invoice for payment no other additional cost and/or surcharges of any kind will be allowed. Failure to provide the required documentations will result in non-payment and/or delay payment. All freight/transportation charges (when applicable) associated with this category will be treated as pass thru cost with no mark-up. No additional costs of any kind will be allowed. 59. Subcontractor Services (Services performed by third party on behalf the awarded Contractor). Note: Double billing is not allowed for the same services in connection with the project.		15.00%	\$2,300.00	10.00%	\$2,200.00	15.00%	\$2,300.00
Total Estimated Dollar Amount: \$2,000.00							
Subcontracted Services Cost plus + Mark-up (to include overhead and profit): % Note: A copy of the actual Contractor's invoice(s) from the authorized/approved subcontractor must be submitted with the awarded Contractor's invoice for payment. Failure to provide the required documentations will result in non-payment and/or delay payment. No additional costs of any kind will be allowed. Dallas County will not pay for duplication of services under this category.	2,000	0.00%	\$2,000.00	5.00%	\$2,100.00	20.00%	\$2,400.00
Total			\$170,898.45		\$128,017.53		\$174,473.35
Specify any additional comments/cost/etc. included with your bid proposal, if applicable:		No Comments/Response		No Comments/Response		None	
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:		No Comments/No Response		85%		None	
	***	8	Page 15 of 53	3	8	9999 9	8888

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of	VENDOR #1 Gomez Floor Covering, Inc.	VENDOR #2 Hill Real Estate	VENDOR #3 JW Smith & Associates	
Carpet, Tile and Various Floor Covering Services		Development, Inc.		
	1130 Inwood Rd.	4303 S. Bowen Rd., Ste. 121	PO Box 710206	
Opening Date: 02-Feb-2012	Dallas, Texas 75247	Arlington, Tx 76016	Dallas, Texas 75371	
	Marco Magdaleno	Ron Hill	Wayne Smith	
	214.905.1901 214.905.1904 fax	817.468.8797 817.468.0605 fax	214.707.1951 214.821.1651 fax	
	214.703.1704 lax	617.406.0005 lax	214.021.1031 tax	
DESCRIPTION				
DESCRIPTION: Est. Qty.	5888			
Specify Prompt/Early Payment Discount Terms	-	1%-10 days	-	
Please answer the questions listed below				
D 1 416 6 D 6 4 G 6 2156 14 7				
Product Information - Refer to Section 3.15 for detail specification requirements				
Trowelable Leveling and Patching Compounds - Specify	Ardex Feather Finish	Ardex	No Comments/Response	
Manufacturer/Brand/Series Being Proposed:				
Concrete Slab Primer - Specify Manufacturer/Brand/Series	Ardex	Ardex	Meapeii	
Being Proposed				
Grout - Specify Manufacturer/Brand/Series Being Proposed:	Laticrete	FS Prism	Custom	
Portland Cement - Specify Manufacturer/Brand/Series	Quik-Crete	FS Flex Set	Quick Crete	
Being Proposed Aggregate Sand - Specify Manufacturer/Brand/Series	Mounni	FS Flex Set	Quick Crete	
Being Proposed	Mauppi	rs riex sei	Quick Crete	
Did your company check Dallas County website (http://www.dallascounty.org/department/purchasing/curre	Yes	Yes	Yes	
ntbids.html) for any addendums, updates, and/or changes to				
the bid solicitation?				
Reference Information Enclosed	Yes	Yes	Yes	
Specify the name, telephone number and email address of	1) Marco Magdaleno,	Ron Hill, 817.468.8797,	Wayne Smith, 214.707.1951,	
the account representative who will be handling and	214.905.1901,	ronhill@hillrealestatedevel	jws.gar@juno.com	
managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account	marcom@gomezfc.com, 2) Alternate: Jeff Carter, 214.905.1901,	opment.com, 2) Herb Lee 972.484.3900,		
representative and/or contact person changes.	Jcarter@gomezfc.com	herb.lee@flooringservices.		
		net 3) Adam Wood, 972.484.3900,		
		Adam.wood@flooringservi		
		ces.net		
	10000	300000	G0001	00000

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #1 Gomez Floor Covering, Inc. 1130 Inwood Rd.	VENDOR #2 Hill Real Estate Development, Inc. 4303 S. Bowen Rd., Ste.	VENDOR #3 JW Smith & Associates PO Box 710206
Opening Date: 02-Feb-2012		Dallas, Texas 75247 Marco Magdaleno 214.905.1901 214.905.1904 fax	121 Arlington, Tx 76016 Ron Hill 817.468.8797 817.468.0605 fax	Dallas, Texas 75371 Wayne Smith 214.707.1951 214.821.1651 fax
DESCRIPTION:	Est. Qty.			
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract?		Yes	Yes	Yes - On Ffile
If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?				
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?		Yes	Yes	Yes
Information on Provision of Health Insurance Coverage for Employees Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 5, paragraph 5). Please complete the information below to assist in this evaluation.				
a) Does your company provide health insurance coverage to its employees?		Yes	No/Yes	No
b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of: 90% for employee only coverage? 65% for family coverage?		No Comments/Response	No/Yes No/Yes	No Comments/Response
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description? (See Attachment - A)		No Comments/Response	No/Yes	No Comments/Response
		Page 17 of 5	53	

VENDOR #3 VENDOR #1 VENDOR #2 TABULATION SHEET Gomez Floor Covering, Inc. Hill Real Estate JW Smith & Associates 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Development, Inc. 1130 Inwood Rd. 4303 S. Bowen Rd., Ste. PO Box 710206 121 Opening Date: 02-Feb-2012 Dallas, Texas 75247 Arlington, Tx 76016 Dallas, Texas 75371 Marco Magdaleno Ron Hill Wayne Smith 214.905.1901 817.468.8797 214.707.1951 214.905.1904 fax 817.468.0605 fax 214.821.1651 fax DESCRIPTION: Est. Qty. No Comments/Response d) If your company plans to utilize subcontractors in the No No fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that

compares to Dallas County's health insurance coverage and

share in the cost?

	:8.8			
TABULATION SHEET		VENDOR #4	VENDOR #5	VENDOR #6
2012-038-5904 Annual Contract for the Installation o	f	Global Services	DMCA, Inc.	All American Flooring
Carpet, Tile and Various Floor Covering Services				
		6009 W. Parker 149-169	2110 West Division Street	7744 State Highway 121 #101
		0005 W. Pairker 115 105	2110 West Division street	7711 State Highway 121 W101
Opening Date: 02-Feb-2012		Plano, Tx 75093	Arlington, Tx 76016	Frisco, Tx 75034
opening bate. v2 1 to 2 v12		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Tamiglon, The 70010	111000, 111 7000 1
		Debra Abdalla	Alice Meyer	Adam Jamal
		469.441.7823	817.461.5270	214.450.3000
			817.795.1252 fax	214.484.5995 fax
DESCRIPTION:	Est.			
	Qty.			
NOTED CA C. C.C. LV. L	*	No	V	N ₁ -
NCTRCA Certified Vendor		NO NO	Yes	No
Certifed By Other Agency		No	1) Yes - HUB - Certifying	No
			Agency: State of Texas,	
			Certification/Registration	
			Number: 1760446448100,	
			Expiration Date: 15-Jun-2015 2) Yes - WBE - Certifying	
			Agency: SBA 8(m) Women	
			Owned Small Business	
			Certification United States	
			Small Business Administration -	
			Woman Owned Small Business	
			Federal Contract Program,	
			Expiration Date: N/A	
EEO1		Yes	Yes	Yes
Dallas County Taxpayer?		Yes	No - Tarrant County	Yes
How were you notified?		DC website	DC website	The Blue Book

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	•		VENDOR #4 Global Services 6009 W. Parker 149-169		VENDOR #5 DMCA , Inc. 2110 West Division Stre	et		VENDOR #6 All American Flooring 7744 State Highway 12	1 #101
Opening Date: 02-Feb-2012			Plano, Tx 75093 Debra Abdalla 469.441.7823		Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax			Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax	
DESCRIPTION:	Est. Qty.								
Section A: Installation of New Broadloom 12' Roll Carpet Only Installation Method: Installation – Direct Glue Down Price to include labor, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and preparation, adhesives standard leveling, laying, trimming, seaming, stretching, tucking, rolling, transition strip, reducer, carpet edge, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements) Carpet to be provided/furnished by: Dallas County (Do not include the cost of carpet in your installation price).									
Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	300	sq. yds	S	7.00 \$2,100.00	S	5.50 \$	1,650.00	s	3.790 \$1,137.00
2. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	2,000	sq. yds	S	8.00 \$16,000.00	S	6.00 \$	12,000.00	S	4.550 \$9,100.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f		VENDOR #4 Global Services			VENDO DMCA ,				VENDOR #6 All American Flooring			
			6009 W. Parker 149-169			2110 We	est Division Street			7744 State Highway 12	21 #101		
Opening Date: 02-Feb-2012			Plano, Tx 75093			Arlingtor	n, Tx 76016			Frisco, Tx 75034			
			Debra Abdalla 469.441.7823			Alice Me 817.461. 817.795.	5270			Adam Jamal 214.450.3000 214.484.5995 fax			
DESCRIPTION:	Est. Qty.												
3. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	400	sq. yds	\$	8.00	\$3,200.00	\$		6.25	\$ 2,500.00	S	4.550	\$1,820.00	
4. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	150	sq. yds	S	7.50	\$1,125.00	\$		6.00	\$ 900.00	S	4.290	\$643.50	
5. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	150	sq. yds.	s	7.50	\$1,125.00	\$		9.00	\$ 1,350.00	S	4.290	\$643.50	
6. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. yds	S	10.00	\$30,000.00	\$		8.50	\$ 25,500.00	S	4.550	\$13,650.00	
					Page 21 of	53							

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012			VENDOR #4 Global Services 6009 W. Parker 149-169 Plano, Tx 75093			VENDOR #5 DMCA , Inc. 2110 West Division Street Arlington, Tx 76016				VENDOR #6 All American Flooring 7744 State Highway 121 #101 Frisco, Tx 75034			
DESCRIPTION:	Est.		Debra Abdalla 469.441.7823			Alice Meyer 817.461.5270 817.795.1252 fax				Adam Jamal 214.450.3000 214.484.5995 fax			
7. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	Qty. 50	sq. yds.	\$	11.00 \$550.00		\$	12.00	\$ 600.	00	s	4.550	\$227.	50
Section B: Installation of New Broadloom Modular Carpet Tile Only Installation Method: Installation – Direct Glue Down Price to include labor, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and base preparation, adhesives, standard leveling, laying, trimming, seaming, stretching, tucking, rolling, transition strip, reducer, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements) Carpet to be provided/furnished by: Dallas County (Do not include the cost of carpet in your installation price).													
8. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100	sq. yds	\$	7.80 \$780.00		\$	5.50	\$ 550.	00	\$	4.340	\$434.	00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012		VENDOR #4 Global Services 6009 W. Parker 149-169 Plano, Tx 75093 Debra Abdalla 469.441.7823		VENDOR #5 DMCA , Inc. 2110 West Division Stree Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax	t		VENDOR #6 All American Flooring 7744 State Highway 12 Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax	l #101
DESCRIPTION:	Est. Qty.			617.773.1232 lax			214.404.3773 IdA	
9. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet		S	7.50 \$375.00	\$	8.00 \$	400.00	\$	5.100 \$255.00
10. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		S	8.00 \$400.00	\$	8.00 \$	400.00	S	5.100 \$255.00
11. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet		S	10.00 \$500.00	\$	12.00 \$	600.00	S	5.100 \$255.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services			VENDOR #4 Global Services 6009 W. Parker 149-169		VENDOR #5 DMCA , Inc. 2110 West Division Street	et		VENDOR #6 All American Flooring 7744 State Highway 12	1 #101
Opening Date: 02-Feb-2012			Plano, Tx 75093 Debra Abdalla 469.441.7823		Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax			Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax	
	Est. Qty.								
12. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT) Section C: Vinyl Composition Floor Tile (VCT), Solid Vinyl Tile (SVT), and Ceramic/Porcelain Tile Price to include labor, tile, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and base preparation, adhesive, grout, standard leveling, laying, trimming, transition strip, reducer, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements)	50	sq. yds.	S	12.00 \$600.00	S	12.00 \$	600.00	S	5.100 \$255.00
13. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	1,000	sq. ft.	s	5.00 \$5,000.00	s	2.40 \$	2,400.00	s	2.870 \$2,870.00
14. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	12,000	sq. ft.	S	5.00 \$60,000.00 Page 24 of 5	s	1.85 \$	22,200.00	S	3.110 \$37,320.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services			VENDOR #4 Global Services	VENDOR #5 DMCA , Inc.			VENDOR #6 All American Flooring		
Opening Date: 02-Feb-2012			6009 W. Parker 149-169 Plano, Tx 75093 Debra Abdalla 469.441.7823		2110 West Division Street Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax			7744 State Highway 12 Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax	1 #101
DESCRIPTION:	Est. Qty.								
15. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	100	sq. ft.	S	7.40 \$740.00	\$	6.00 \$	600.00	\$	3.110 \$311.00
16. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. ft.	S	4.00 \$12,000.00	\$	2.20 \$	6,600.00	S	3.110 \$9,330.00
17. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. ft.	S	5.40 \$16,200.00	s	2.50 \$	7,500.00	S	3.110 \$9,330.00
18. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	500	sq. ft.	s	4.40 \$2,200.00	\$	3.00 \$	1,500.00	s	3.020 \$1,510.00
19. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	500	sq. ft.	S	4.40 \$2,200.00	\$	3.00 \$	1,500.00	S	3.020 \$1,510.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #4 Global Services		VENDOR #5 DMCA , Inc.			VENDOR #6 All American Flooring	
		6009 W. Parker 149-169		2110 West Division Stree	t		7744 State Highway 12	I #101
Opening Date: 02-Feb-2012		Plano, Tx 75093		Arlington, Tx 76016			Frisco, Tx 75034	
		Debra Abdalla 469.441.7823		Alice Meyer 817.461.5270 817.795.1252 fax			Adam Jamal 214.450.3000 214.484.5995 fax	
	Est. Qty.							
20. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100 sq. ft.	S	5.00 \$500.00	s	2.00 \$	200.00	s	6.390 \$639.00
21. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50 sq. ft.	S	5.00 \$250.00	S	2.50 \$	125.00	s	6.650 \$332.50
22. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50 sq. ft.	S	6.00 \$300.00	S	2.50 \$	125.00	S	6.650 \$332.50
23. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	50 sq. ft.	S	6.00 \$300.00	s	2.50 \$	125.00	s	6.650 \$332.50
24. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	100 sq. ft.	S	6.00 \$600.00	s	3.00 \$	300.00	S	6.650 \$665.00
			Page 26 of 5	3				

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f		VENDOR #4 Global Services 6009 W. Parker 149-169		VENDOR #5 DMCA , Inc. 2110 West Division Stree	t		VENDOR #6 All American Flooring 7744 State Highway 12	1 #101
Opening Date: 02-Feb-2012			Plano, Tx 75093 Debra Abdalla 469.441.7823		Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax			Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax	
DESCRIPTION:	Est. Qty.								
25. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. ft.	s	5.00 \$250.00	\$	3.00	\$ 150.00	S	6.500 \$325.00
26. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	50	sq. ft.	s	5.00 \$250.00	S	3.00	\$ 150.00	s	6.500 \$325.00
27. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100	sq. ft.	s	6.00 \$600.00	S	7.00	\$ 700.00	S	6.950 \$695.00
28. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	1,500	sq. ft.	S	6.00 \$9,000.00	\$	5.80	\$ 8,700.00	S	7.700 \$11,550.00
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:			s	- \$0.00	\$	2.00	\$ 2.00	S	0.750 \$0.75

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #4 Global Services		VENDOR #5 DMCA , Inc.			VENDOR #6 All American Flooring		
		6009 W. Parker 149-169		2110 West Division Stree	t		7744 State Highway 12	1 #101	
Opening Date: 02-Feb-2012		Plano, Tx 75093		Arlington, Tx 76016			Frisco, Tx 75034		
		Debra Abdalla 469.441.7823		Alice Meyer 817.461.5270 817.795.1252 fax			Adam Jamal 214.450.3000 214.484.5995 fax		
DESCRIPTION:	Est. Qty.								
29. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	100 sq. i	i. S	7.00 \$700.00	\$	7.00	\$ 700.00	\$	7.700 \$770.00	
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:		s	- \$0.00	s	2.00	\$ 2.00	s	0.750 \$0.75	
30. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	•	t. S	6.00 \$3,000.00	\$	6.00	\$ 3,000.00	S	7.700 \$3,850.00	
31. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	·	i. S	6.00 \$3,000.00	\$	6.10	\$ 3,050.00	\$	7.700 \$3,850.00	
32. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	100 sq. 1	t. S	6.00 \$600.00	\$	6.50	\$ 650.00	S	7.600 \$760.00	

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f	COCCOCCCCCC	VENDOR #4 Global Services			VENDOR #5 DMCA , Inc.			VENDOR #6 All American Flooring		
			6009 W. Parker 149-169			2110 West Division Stre	et		7744 State Highway 12	21 #101	
Opening Date: 02-Feb-2012			Plano, Tx 75093			Arlington, Tx 76016			Frisco, Tx 75034		
		***************************************	Debra Abdalla 469.441.7823			Alice Meyer 817.461.5270 817.795.1252 fax			Adam Jamal 214.450.3000 214.484.5995 fax		
DESCRIPTION:	Est. Qty.	***************************************									
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:		***************************************	S	- \$0.00		S	2.00	\$ 2.00	\$	0.750 \$0.75	
33. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base	100	sq. ft.	\$	5.00 \$500.00		\$	6.50	\$ 650.00	\$	7.600 \$760.00	
Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet		***************************************									
Manufacturer Brand and Series of the VCT Being Proposed:		***************************************	Armstrong			Azrock- Standard Comp Tile	osition		Armstrong Imperial		
Manufacturer Brand and Series of the SVT Being Proposed:		XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	Armstrong			Azrock - Cortina Grade			Armstrong		
Manufacturer Brand and Series of the Ceramic/Porcelain Tile Being Proposed		***************************************	Sanita Cecilia			Dal-Tile - Fidenza			MoHawk - Mirando		
Section D: Miscellaneous and Repair Services - To be performed as needed/as requested by Dallas County Pricing should include the cost of all labor, preparation, materials, supplies, parts, tools, equipment, etc. required to complete job, unless otherwise stated.											
34. Additional Floor Preparation Work (outside standard prep work for carpet and tile) Price to include all material and labor required to install Type: Skim Coat or Feather Finish and covering old adhesives and ridges to provide a smooth and flat surface. Ardex Feather Finish, Chemrex or approved equal	50	bags	s	55.00 \$2,750.00		s	25.00	\$ 1,250.00	s	45.000 \$2,250.00	
Manufacturer Brand and Series Being Proposed:		***************************************	Mapei			Chemrex - Skim Coat			Mapaie		
				Page 29	of 53			330			

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f		VENDOR #4 Global Services		VENDOR #5 DMCA , Inc.			VENDOR #6 All American Flooring	
			6009 W. Parker 149-169		2110 West Division Str	reet		7744 State Highway 12	21 #101
Opening Date: 02-Feb-2012			Plano, Tx 75093		Arlington, Tx 76016			Frisco, Tx 75034	
			Debra Abdalla 469.441.7823		Alice Meyer 817.461.5270 817.795.1252 fax			Adam Jamal 214.450.3000 214.484.5995 fax	
DESCRIPTION:	Est. Qty.								
35. Additional Floor Preparation Work (outside standard prep work for carpet and tile installation) Price to include all material and labor required to install Type: Floating Self Leveling, skimming and covering old adhesives and ridges to provide a smooth and flat surface. Ardex Self Leveling, Chemrex or approved equal	50	bags	S	65.00 \$3,250.00	\$	45.00 \$	2,250.00	\$	45.000 \$2,250.00
Manufacturer Brand and Series Being Proposed:			No Response		Chemrex - Self Levelin	ng		Mapie	
36. Additional Floor Preparation Work Installation of New Sub-Floor (as needed) Grade C or better	,								
Type: 1/4" Plywood sub-floors	5	each	\$	100.00 \$500.00	\$	50.00 \$	250.00	₩	29.950 \$149.75
Type: 3/8" Plywood sub-floors Type: 1/2" Plywood sub-floors	5 5	each each	\$ s	110.00 \$550.00 140.00 \$700.00	\$ \$	50.00 \$ 60.00 \$	250.00 3 00.00	\$ \$	29.950 \$149.75 29.950 \$149.75
Type: 3/4" Plywood sub-floors	5	each	Š	200.00 \$1,000.00	\$	60.00 \$	300.00	s s	29.950 \$149.75
Price to include all material, prep work, removal of existing sub-floor and labor required to install									
37. Additional Floor Preparation Work Installation of New Sub-Floor (as needed)	7								
Type: 1/4" Concrete backer board sub-floors	5	each	S	90.00 \$450.00	\$	55.00 \$	275.00	888. 1	29.950 \$149.75
Type: 3/8" Concrete backer board sub-floors Type: 1/2" Concrete backer board sub-floors	5 5	each each	\$ s	100.00 \$500.00 110.00 \$550.00	\$ \$	55.00 \$ 60.00 \$	275.00 3 00.00	300	29.950 \$149.75 29.950 \$149.75
Type: 3/4" Concrete backer board sub-floors	5	each	\$	120.00 \$600.00	\$	65.00 \$	325.00		29.950 \$149.75
Price to include all material, prep work, removal of existing sub-floor and labor required to install									
Manufacturer Brand and Series Being Proposed for the Concrete Backer Board:			Mapei		Duroc			No Response	
38. New 4" Cove Base Only - Price to include all labor, material, supplies, and prep work required to install	1,000	linear ft.	s	1.00 \$1,000.00	\$	1.50 \$	1,500.00	\$	1.390 \$1,390.00
Manufacturer Brand and Series Being Proposed:			Armstrong		Johnsonite - with toe			Burke	
39. New 6" Cove Base Only - Price to include all labor, material, supplies, and prep work required to install	100	linear ft.	s	1.30 \$130.00	\$	2.00 \$	200.00	\$	1.590 \$159.00
Manufacturer Brand and Series Being Proposed:			Armstrong		Johnsonite - with toe			Burke	
				Page 30 of	53				

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	VENDOR #4 Global Services		VENDOR #5 DMCA , Inc.		VENDOR #6 All American Flooring	
	6009 W. Parker 149-169		2110 West Division Street		7744 State Highway 121 #101	
Opening Date: 02-Feb-2012	Plano, Tx 75093		Arlington, Tx 76016		Frisco, Tx 75034	
	Debra Abdalla 469.441.7823		Alice Meyer 817.461.5270 817.795.1252 fax		Adam Jamal 214.450.3000 214.484.5995 fax	
DESCRIPTION: Est. Qty.						
40. Additional Charge (if any) for Diamond, Circle or Curve Pattern Design on VCT and SVT Tiles	10.00/sq. ft.	\$10.00	1.00/sq. ft.	\$ 1.00	0.00/sq. ft,	\$0.00
41. Additional Charge (if any) for Diamond, Circle or Curve Pattern Design on Ceramic/Porcelain Tile	15.00/sq. ft.	\$15.00	2.00/sq. ft.	\$ 2.00	0.00/sq. ft.	\$0.00
42. New Vinyl Reducer only - Price to include all labor, material, supplies, and prep work required to install	10.00/linear feet	\$10.00	4.00/linear feet	\$ 4.00	.59/linear feet	\$0.59
Manufacturer Brand and Series Being Proposed:	Armstrong		Johnsonite - Reducer		Schluter	
43. New Transition Strips only - Price to include all labor, material, supplies, and prep work required to install	5.00/linear feet	\$5.00	4.00/linear feet	\$ 4.00	.75/linear feet	\$0.75
Manufacturer Brand and Series Being Proposed:	Armstrong		Johnsonite - Transition		Schluter	
44. New Carpet Edge only - Price to include all labor, material, supplies, and prep work required to install	5.00/linear feet	\$5.00	4.00/linear feet	\$ 4.00	1.75/linear feet	\$1.75
Manufacturer Brand and Series Being Proposed:	Armstrong		Johnsonite - Edge		No Response	
45. New Stair Nosing only - Price to include all labor, material, supplies, and prep work required to install	10.00/linear feet	\$10.00	20.00/linear feet	\$ 20.00	3.49/linear feet	\$3.49
Manufacturer Brand and Series Being Proposed:	Armstrong		Johnsonite - Nosing		No Response	
46. New Vinyl Stair Treads at least $12 - 1/4$ " deep only - Price to include all labor, material, supplies, and prep work required to install	5.00/linear feet	\$5.00	25.00/linear feet	\$ 25.00	7.49/linear feet	\$7.49
Manufacturer Brand and Series Being Proposed:	Arnstrong		Johnsonite - Tread		Burke	
47. New Rubber Stair Treads at least $12 - 1/4$ " deep only: - Price to include all labor, material, supplies, and prep work required to install	5.00/linear feet	\$5.00	28.00/linear feet	\$ 28.00	10.95/linear feet	\$10.95
Manufacturer Brand and Series Being Proposed:	Armstrong		Johnsonite - Tread		Burke	
		Page 31 of 5	3			

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #4 Global Services		VENDOR #5 DMCA , Inc.			VENDOR #6 All American Flooring	
		6009 W. Parker 149-169		2110 West Division Stree	et		7744 State Highway 121	#101
Opening Date: 02-Feb-2012		Plano, Tx 75093		Arlington, Tx 76016			Frisco, Tx 75034	
		Debra Abdalla 469.441.7823		Alice Meyer 817.461.5270 817.795.1252 fax			Adam Jamal 214.450.3000 214.484.5995 fax	
DESCRIPTION:	Est. Qty.							
48. Carpet Stretching - Price to include all labor, material, supplies, and prep work required to perform these services		2.00/sq. yd.	\$2.00	5.00/sq. yd.	\$	5.00	1.29/sq. yd.	\$1.29
49. Replace Carpet Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Carpet to be furnished by Dallas County)		6.00/sq. yd.	\$6.00	6.00/sq. yd.	\$	6.00	2.75/sq. yd.	\$2.75
50. Repair/Replace Marble Tile Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Marble Tile to be furnished by Dallas County)		10.00/sq. ft.	\$10.00	5.00/sq. ft.	\$	5.00	2.39/sq. ft.	\$2.39
51. Repair/Replace Terrazzo Tile Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Terrazzo Tile to be furnished by Dallas County)		10.00/sq. ft.	\$10.00	5.00/sq. ft.	\$	5.00	2.39/sq. ft.	\$2.39
52. Removal of existing vinyl tile flooring, base, reducer strips, transition strips and stair tread (only) .		3.00/sq. ft.	\$3.00	1.00/sq. ft.	\$	1.00	.36/sq. ft.	\$0.36
53. Removal of existing carpet, base, reducer strips transition strips and stair tread (only).		2.50/sq. yd.	\$2.50	3.00/sq. yd.	\$	3.00	.36/sq. ft.	\$0.36
54. Disassembly and Reassembly of Modular Furniture	50 hours	\$	40.00 \$2,000.00	s	30.00 \$	1,500.00	\$	18.000 \$900.00
55. Labor Rate for Removal and Replacement Of Office and/or Classroom Furniture Only	50 hours	\$	40.00 \$2,000.00	S	30.00 \$	1,500.00	\$	18.000 \$900.00
56. Labor Rate for Floor Covering Services not specified under this contract	50 hours	S	15.00 \$750.00	S	30.00 \$	1,500.00	S	18.000 \$900.00 18.000 \$900.00 10.750 \$537.50
			Page 32 of 5	53				

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services			VENDOR #4 Global Services 6009 W. Parker 149-169		VENDOR #5 DMCA , Inc. 2110 West Division S	treet	VENDOR #6 All American Flooring 7744 State Highway 121 #101	
Opening Date: 02-Feb-2012			Plano, Tx 75093 Debra Abdalla 469.441.7823		Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax		Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax	
DESCRIPTION:	Est. Qty.							
57. Minimum Service Charge for any Flooring Service - Note: Dallas County will pay the minimum service charge fee or unit price for each service request whichever is greater (but not both)	150	each	s	600.00 \$90,000.00	S	250.00 \$ 37,500.00	\$0.000	\$0.00
58. Parts, Supplies and Materials – Markup: Only applicable to parts, supplies and materials not specified under this contract and not part of standard floor preparation and installation services in accordance manufacturer guidelines as stated in the bid requirements. No other additional costs and/or surcharges of any kind will be allowed.								
Total Estimated Dollar Amount: \$2,000.00								
Contractor Cost plus + Mark-up (to include overhead and profit): % Note: A copy of the actual Contractor's invoice(s) from his/her supplier for such parts, supplies and materials shall e submitted with the Contractor's invoice for payment no other additional cost and/or surcharges of any kind will be allowed. Failure to provide the required documentations will result in non-payment and/or delay payment. All freight/transportation charges (when applicable) associated with this category will be treated as pass thru cost with no mark-up. No additional costs of any kind will be allowed.			12.00%	\$2,240.00	10.00%	\$2,200.00	18.00%	\$2,360.00
59. Subcontractor Services (Services performed by third party on behalf the awarded Contractor). Note: Double billing is not allowed for the same services in connection with the project.	ı							
Total Estimated Dollar Amount: \$2,000.00								

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f	VENDOR #4 Global Services		VENDOR #5 DMCA , Inc.		VENDOR #6 All American Flooring	
		6009 W. Parker 149-169		2110 West Division Street		7744 State Highway 121 #101	
Opening Date: 02-Feb-2012		Plano, Tx 75093		Arlington, Tx 76016		Frisco, Tx 75034	
		Debra Abdalla 469.441.7823		Alice Meyer 817.461.5270 817.795.1252 fax		Adam Jamal 214.450,3000 214.484.5995 fax	
DESCRIPTION:	Est. Qty.						
Subcontracted Services Cost plus + Mark-up (to include overhead and profit): % Note: A copy of the actual Contractor's invoice(s) from the authorized/approved subcontractor must be submitted with the awarded Contractor's invoice for payment. Failure to provide the required documentations will result in non-payment and/or delay payment. No additional costs of any kind will be allowed. Dallas County will not pay for duplication of services under this category.	2,000	10.00%	\$2,200.00	10.00%	\$2,200.00	0.00%	\$2,000.00
Total			\$286,213.50		\$161,969.00		\$130,024.31
Specify any additional comments/cost/etc. included with your bid proposal, if applicable:		NA		N/A		No Comments/Response	
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:		None		No Portion will be subcontracted out.		We will not be subcontracting work out	
Specify Prompt/Early Payment Discount Terms		2%-10 days		-		-	
Please answer the questions listed below							
Product Information - Refer to Section 3.15 for detail specification requirements							
Trowelable Leveling and Patching Compounds - Specify Manufacturer/Brand/Series Being Proposed:		Mapei		BASF - Chemrex - Self Leveling and Skim Coat		No Comments/Response	
Concrete Slab Primer - Specify Manufacturer/Brand/Series Being Proposed	S	Kius/Mapei		BASF/Chmrex - Primer G		Mapei/Primer-L	
Grout - Specify Manufacturer/Brand/Series Being Proposed:		Mapei Sanded		Laticrete - Grout 1500		Mapei	
Portland Cement - Specify Manufacturer/Brand/Series Being Proposed		TXV - Typem		Smith & Nephew, Versabond Thinset #626916		Mapei/KeraBond	
Aggregate Sand - Specify Manufacturer/Brand/Series Being Proposed		TXV - Fine Sand		King Playsand #13003020		No Comments/Response	
	XXXX		Page 34 of 53	3	**		••••

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	*****	VENDOR #4 Global Services	VENDOR #5 DMCA , Inc.	VENDOR #6 All American Flooring
	6	5009 W. Parker 149-169	2110 West Division Street	7744 State Highway 121 #101
Opening Date: 02-Feb-2012	F	Plano, Tx 75093	Arlington, Tx 76016	Frisco, Tx 75034
	***	Debra Abdalla 169.441.7823	Alice Meyer 817.461.5270 817.795.1252 fax	Adam Jamal 214.450.3000 214.484.5995 fax
DESCRIPTION:	Est. Qty.			
Did your company check Dallas County website (http://www.dallascounty.org/department/purchasing/curre ntbids.html) for any addendums, updates, and/or changes to the bid solicitation?		ý es	Yes	Yes
Reference Information Enclosed	7	Yes	Yes	Yes
Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.	ca M	l) Celso Abdalla, 469.441.7823, abbd777@gmail.com, 2) Alternate: fario Moreno, 214.727.0368, nariomrcs@gmail.com	1) Andrew Campbell, 817.461.5270, Andrew@dmcainc.com, 2) Alternate: Richard Cardenas, GM, 817.461.5270, richard@dmcainc.com	1) Adam Jamal, 214.450.3000, adam@allamericamflooring.net 2) Alternate: Paul Unerfusser, 972.740.5897, paul@allamericanflooring.net
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract?	1	No	Yes	Yes
If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?		v'es		Yes - Workers Comp
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?	,	v'es	Yes	Yes

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	Ī	VENDOR #4 Global Services 6009 W. Parker 149-169	VENDOR #5 DMCA , Inc. 2110 West Division Street	VENDOR #6 All American Flooring 7744 State Highway 121 #101
Opening Date: 02-Feb-2012		Plano, Tx 75093 Debra Abdalla 469.441.7823	Arlington, Tx 76016 Alice Meyer 817.461.5270 817.795.1252 fax	Frisco, Tx 75034 Adam Jamal 214.450.3000 214.484.5995 fax
DESCRIPTION:	Est. Qty.			
Information on Provision of Health Insurance Coverage for Employees Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 5, paragraph 5). Please complete the information below to assist in this evaluation.				
a) Does your company provide health insurance coverage to its employees?		No	Yes	No
b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of:				
90% for employee only coverage? 65% for family coverage?		No No	Yes - 100% No - 52%	No No
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description? (See Attachment - A)		No	Yes	No
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?	l	No	No Comments/Response	No

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #7 Myelyn Contractors	VENDOR #8 CC & P Floor Covering	VENDOR #9
		316 Teakwood Lane	3535 Henderson	
Opening Date: 02-Feb-2012		Lewisville, Tx 75067	Dallas, Tx 75372	
		Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax	Daniel Cruz 214.468.7752	
DESCRIPTION: Est.				
Qty.				
NCTRCA Certified Vendor		Yes	Did not return form	
Certifed By Other Agency		1) Yes - HUB - Certifying Agency: State of Texas, Certification/Registration Number: 1273564805200, Expiration Date: 09-Feb-2015	No Comments/Response	
EEO1		Yes	Yes	
Dallas County Taxpayer?		No response	Yes	
How were you notified?		Website	No Comments/Response	
Section A: Installation of New Broadloom 12' Roll Carpet Only Installation Method: Installation – Direct Glue Down Price to include labor, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and preparation, adhesives, standard leveling, laying, trimming, seaming, stretching, tucking, rolling, transition strip, reducer, carpet edge, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements) Carpet to be provided/furnished by: Dallas County (Do not include the cost of carpet in your installation price). 1. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down	sq. yds	\$ 5.80 \$1,740.00	\$ 6.50 \$ 1,950.0	00 \$ - \$0.00
Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)				5 - 50.00
		Page 37 of 53		

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f		VENDOR #7 Myelyn Contractors		VENDOR #8 CC & P Floor Covering			VENDOR #9	
			316 Teakwood Lane		3535 Henderson				
Opening Date: 02-Feb-2012			Lewisville, Tx 75067		Dallas, Tx 75372				
			Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax		Daniel Cruz 214.468.7752				
DESCRIPTION:	Est. Qty.								
2. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area	2,000	sq. yds	S	5.80 \$11,600.00	\$	9.50 \$	19,000.00	S	- \$0.00
with Nominal Office Furniture Removal and Disposal of existing glue down carpet									
3. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		sq. yds	S	5.80 \$2,320.00	\$	9.50 \$	3,800.00	\$	- \$0.00 - \$0.00
4. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	150	sq. yds	S	5.80 \$870.00	\$	8.50 \$	1,275.00	S	
5. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	150	sq. yds.	S	5.80 \$870.00	\$	8.50 \$	1,275.00	S	- \$0.00
				Page 38 of 8	53				

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	f		VENDOR #7 Myelyn Contractors 316 Teakwood Lane Lewisville, Tx 75067		VENDOR #8 CC & P Floor Covering 3535 Henderson Dallas, Tx 75372			VENDOR #9	
			Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax		Daniel Cruz 214.468.7752				
DESCRIPTION:	Est. Qty.								
6. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. yds	S	5.80 \$17,400.00	S	11.00 \$	33,000.00	\$	- \$0.00
7. Installation of New Broadloom Carpet with 4" Cove Base (Carpet only to be furnished by Dallas County), Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. yds.	S	5.80 \$290.00	S	11.00 \$	550.00	S	- \$0.00
Section B: Installation of New Broadloom Modular Carpet Tile Only Installation Method: Installation – Direct Glue Down Price to include labor, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and base preparation, adhesives, standard leveling, laying, trimming, seaming, stretching, tucking, rolling, transition strip, reducer, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements) Carpet to be provided/furnished by: Dallas County (Do not include the cost of carpet in your installation price).									

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	,	VENDOR #7 Myelyn Contractors 316 Teakwood Lane Lewisville, Tx 75067 Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax	VENDOR #8 CC & P Floor Covering 3535 Henderson Dallas, Tx 75372 Daniel Cruz 214.468.7752	VENDOR #9
DESCRIPTION:	Est. Qty.			
8. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100 sq. yds	\$ 5.80 \$580.00	\$ 6.75 \$	675.00 \$ - \$0.00
9. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	•	\$ 5.80 \$290.00	\$ 10.50 \$	525.00 \$ - \$0.00
10. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		\$ 5.80 \$290.00	\$ 10.50 \$	525.00 \$ - \$0.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services		VENDOR #7 Myelyn Contractors		VENDOR #8 CC & P Floor Covering			VENDOR #9	
		316 Teakwood Lane		3535 Henderson				
Opening Date: 02-Feb-2012		Lewisville, Tx 75067		Dallas, Tx 75372				
		Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax		Daniel Cruz 214.468.7752				
	Est. Qty.							
11. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	50 sq. yds	S	5.80 \$290.00	\$	12.00 \$	600.00	\$ -	\$0.00
12. Installation of New Broadloom Modular Carpet Tile 24 x 24 with 4" Cove Base, (Carpet only to be furnished by Dallas County) Installation Method: Direct Glue Down Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	50 sq. yds.	S	5.80 \$290.00	S	12.00 \$	600.00	s -	\$0.00
Section C: Vinyl Composition Floor Tile (VCT), Solid Vinyl Tile (SVT), and Ceramic/Porcelain Tile Price to include labor, tile, material, supplies, removal and disposal of existing flooring, furniture moving, installation including floor and base preparation, adhesive, grout, standard leveling, laying, trimming, transition strip, reducer, etc., all in strict accordance with manufacturer's recommendations and instructions. (See Technical Requirements to more detail requirements)								
13. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	1,000 sq. ft.	S	2.95 \$2,950.00	S	2.50 \$	2,500.00	\$ -	\$0.00
			Page 41 of 53					

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services			VENDOR #7 Myelyn Contractors			VENDOR #8 CC & P Floor Covering			VENDOR #9			
Opening Date: 02-Feb-2012			316 Teakwood Lane Lewisville, Tx 75067 Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax			3535 Henderson Dallas, Tx 75372 Daniel Cruz 214.468.7752						
DESCRIPTION:	Est. Qty.											***
14. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	12,000	sq. ft.	S	2.95	\$35,400.00	S	3.00	\$ 36,000.00	s	-	\$0.00	
15. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	100	sq. ft.	S	2.95	\$295.00	S	3.25	\$ 325.00	S	-	\$0.00	
16. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. ft.	S	2.95	\$8,850.00	S	3.25	\$ 9,750.00	\$	-	\$0.00	
17. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing glue down carpet	3,000	sq. ft.	S	2.95	\$8,850.00	S	3.35	\$ 10,050.00	S	-	\$0.00	
18. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	500	sq. ft.	S		\$1,475.00 Page 42 of 5	s 3	2.75	\$ 1,375.00	S	-	\$0.00	

Page 42 of 53

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f		VENDOR #7 Myelyn Contractors			VENDOR #8 CC & P Floor Covering			VENDOR #9		
. ,			316 Teakwood Lane			3535 Henderson					
Opening Date: 02-Feb-2012			Lewisville, Tx 75067			Dallas, Tx 75372					
			Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax			Daniel Cruz 214.468.7752					
DESCRIPTION:	Est. Qty.										
19. Furnish and Install New VCT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	500	sq. ft.	S	2.95	\$1,475.00	s	2.75 \$	1,375.00	S	- \$0.00	
20. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100	sq. ft.	S	2.95	\$295.00	s	2.10 \$	210.00	s	- \$0.00	
21. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		sq. ft.	S	2.95	\$147.50	S	3.00 \$	150.00	S	- \$0.00	
22. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		sq. ft.	S	2.95	\$147.50	S	2.50 \$	125.00	S	- \$0.00	
23. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of area with Nominal Office Furniture Removal and Disposal of existing glue down carpet		sq. ft.	s	2.95	\$147.50	s	2.40 \$	120.00	S	- \$0.00	
				Р	age 43 of 53						

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	f		VENDOR #7 Myelyn Contractors 316 Teakwood Lane Lewisville, Tx 75067 Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax			VENDOR #8 CC & P Floor Covering 3535 Henderson Dallas, Tx 75372 Daniel Cruz 214.468.7752				VENDOR #9			
DESCRIPTION:	Est. Qty.												
24. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of are: with Heavy Office Furniture Removal and Disposal of existing glue down carpet	100 a	sq. ft.	S	2.95	\$295.00	\$	2.50	\$	250.00	\$	-	\$0.00	
25. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)	50	sq. ft.	S	2.95	\$147.50	S	2.03	5 \$	102.50	S	-	\$0.00	
26. Furnish and Install New SVT with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	50	sq. ft.	S	2.95	\$147.50	\$	2.10	\$	105.00	\$	-	\$0.00	
27. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) No Existing Carpet or Vinyl Composition Tile (VCT)	100	sq. ft.	S	5.50	\$550.00	S	8.00) \$	800.00	\$	-	\$0.00	
28. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of are with Nominal Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)	1,500	sq. ft.	\$	5.50	\$8,250.00	\$	8.23	5 \$	12,375.00	\$	-	\$0.00	

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	f	VENDOR #7 Myelyn Contractors 316 Teakwood Lane Lewisville, Tx 75067 Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax	VENDOR #8 CC & P Floor Covering 3535 Henderson Dallas, Tx 75372 Daniel Cruz 214.468.7752	VENDOR #9
DESCRIPTION: Specify Additional Charge per Square Feet (if any) for	Est. Qty.	\$ 0.50 \$0.50	\$ 2.00 \$	2.00 \$ - \$0.00
Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:				
29. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of are with Heavy Office Furniture Removal and Disposal of existing Vinyl Composition Tile (VCT)		\$ 5.50 \$550.00	\$ 8.80 \$	880.00 \$ - \$0.00
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:	:	\$ 0.50 \$0.50	\$ 2.00 \$	2.00 \$ - \$0.00
30. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of are with Nominal Office Furniture Removal and Disposal of existing glue down carpet	500 sq. ft.	\$ 5.50 \$2,750.00	\$ 8.50 \$	4,250.00 \$ - \$0.00
31. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: Yes - Removal and Replacement of are with Heavy Office Furniture Removal and Disposal of existing glue down carpet		\$ 5.50 \$2,750.00	\$ 8.60 \$	4,300.00 \$ - \$0.00

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	f	VENDOR #7 Myelyn Contractors		VENDOR #8 CC & P Floor Covering	5	VENDOR	#9
		316 Teakwood Lane		3535 Henderson			
Opening Date: 02-Feb-2012		Lewisville, Tx 75067		Dallas, Tx 75372			
		Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax)	Daniel Cruz 214.468.7752			
DESCRIPTION:	Est. Qty.						
32. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base	100 sq. ft.	s	5.50 \$550.00	\$	8.25 \$	825.00 \$	- \$0.00
Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing Vinyl Composition Tile (VCT)							
Specify Additional Charge per Square Feet (if any) for Removal and Disposal of Ceramic/Porcelain Tile in lieu of VCT:		S	0.50 \$0.50	S	2.00 \$	2.00	- \$0.00
33. Furnish and Install New Ceramic/Porcelain Tile with 4" Cove Base Standard floor and base preparation in accordance to manufacture requirements Furniture Moving: No (None) Removal and Disposal of existing glue down carpet	100 sq. ft.	S	5.50 \$550.00	S	8.25 \$	825.00	- \$0.00
Manufacturer Brand and Series of the VCT Being Proposed:		Standard Excelon - Amstron Commercial Flooring	g	Tarkett			
Manufacturer Brand and Series of the SVT Being Proposed:		Armstrong Commercial Floo	oring	Congoleum			
Manufacturer Brand and Series of the Ceramic/Porcelain Tile Being Proposed		Mannington Commercial Weatherstone		American Tile			
Section D: Miscellaneous and Repair Services - To be performed as needed/as requested by Dallas County Pricing should include the cost of all labor, preparation, materials, supplies, parts, tools, equipment, etc. required to complete job, unless otherwise stated.							

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	ıf		VENDOR #7 Myelyn Contractors			VENDOR #8 CC & P Floor Coveri	ing		VENDOR #9			
			316 Teakwood Lane			3535 Henderson						
Opening Date: 02-Feb-2012			Lewisville, Tx 75067			Dallas, Tx 75372						
			Laura Vincent 214.418.0936/469.437.130 214.256.3632 fax	0		Daniel Cruz 214.468.7752						
DESCRIPTION:	Est.											
	Qty.											
34. Additional Floor Preparation Work (outside standard prep work for carpet and tile) Price to include all material and labor required to install Type: Skim Coat or Feather Finish and covering old adhesives and ridges to provide a smooth and flat surface. Ardex Feather Finish, Chemrex or approved equal	50	bags	S	25.00	\$1,250.00	S	20.00 \$	1,000.00	s	-	\$0.00	
Manufacturer Brand and Series Being Proposed:			Ardex P 82 Ardex Feather	Finish		No Response						
35. Additional Floor Preparation Work (outside standard prep work for carpet and tile installation) Price to include all material and labor required to install Type: Floating Self Leveling, skimming and covering old adhesives and ridges to provide a smooth and flat surface. Ardex Self Leveling, Chemrex or approved equal	50	bags	s	55.00	\$2,750.00	S	40.00 \$	2,000.00	S	-	\$0.00	
Manufacturer Brand and Series Being Proposed:			Ardex Manufacturer			No Response						
36. Additional Floor Preparation Work Installation of New Sub-Floor (as needed) Grade C or better	v											
Type: 1/4" Plywood sub-floors	5	each	s		\$140.00	s	10.00 \$	50.00	8888	-	\$0.00	
Type: 3/8" Plywood sub-floors	5	each	\$		\$140.00	\$ s	10.00 \$	50.00	\$	-	\$0.00	
Type: 1/2" Plywood sub-floors	5 5	each	\$		\$140.00 \$140.00	\$	10.00 \$	50.00			\$0.00	
Type: 3/4" Plywood sub-floors Price to include all material, prep work, removal of existing sub-floor and labor required to install	3	each	3	28.00	\$140.00	2	10.00 \$	50.00	2	-	\$0.00	
37. Additional Floor Preparation Work Installation of New Sub-Floor (as needed)	V											
Type: 1/4" Concrete backer board sub-floors	5	each	\$	12.00	\$60.00	\$	15.00 \$	75.00	\$	-	\$0.00	
Type: 3/8" Concrete backer board sub-floors	5	each	\$	12.00	\$60.00	\$	15.00 \$	75.00	SXXXX	-	\$0.00	
Type: 1/2" Concrete backer board sub-floors	5	each	\$		\$60.00	\$ \$	15.00 \$	75.00			\$0.00	
Type: 3/4" Concrete backer board sub-floors	5	each	\$	12.00	\$60.00	\$	15.00 \$	75.00	₩ \$	-	\$0.00	

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	of		VENDOR #7 Myelyn Contractors		VENDOR #8 CC & P Floor Covering			VENDOR #9	
curped, the and various rivor covering services			316 Teakwood Lane		3535 Henderson				
Opening Date: 02-Feb-2012			Lewisville, Tx 75067		Dallas, Tx 75372				
			Laura Vincent		Daniel Cruz				
			214.418.0936/469.437.1300 214.256.3632 fax		214.468.7752				
DESCRIPTION:	Est. Qty.								
Price to include all material, prep work, removal of existing sub-floor and labor required to install									
Manufacturer Brand and Series Being Proposed for the Concrete Backer Board:			Hardie Backer		No Response				
38. New 4" Cove Base Only - Price to include all labor, material, supplies, and prep work required to install	1,000	linear ft.	s	2.05 \$2,050.00	s	2.00 \$	2,000.00	\$	- \$0.00
Manufacturer Brand and Series Being Proposed:			Roppe T100		No Response				
39. New 6" Cove Base Only - Price to include all labor, material, supplies, and prep work required to install	100	linear ft.	s	2.05 \$205.00	s	2.25 \$	225.00	\$	- \$0.00
Manufacturer Brand and Series Being Proposed:			Roppe T100		No Response				
40. Additional Charge (if any) for Diamond, Circle or Curve Pattern Design on VCT and SVT Tiles			1.50/sq. ft.	\$1.50	.50/sq. ft.	\$	0.50	\$	- \$0.00
41. Additional Charge (if any) for Diamond, Circle or			2.00/sq. ft.	\$2.00	1.00/sq. ft.	\$	1.00	\$	- \$0.00
Curve Pattern Design on Ceramic/Porcelain Tile			-						
42. New Vinyl Reducer only - Price to include all labor, material, supplies, and prep work required to install			1.85/linear feet	\$1.85	2.00/linear feet	\$	2.00	\$	- \$0.00
Manufacturer Brand and Series Being Proposed:			Roppe		No Response				
43. New Transition Strips only - Price to include all labor, material, supplies, and prep work required to install	,		1.85/linear feet	\$1.85	2.00/linear feet	\$	2.00	\$	- \$0.00
Manufacturer Brand and Series Being Proposed:			Roppe		No Response				
44. New Carpet Edge only - Price to include all labor, material, supplies, and prep work required to install			6.00/linear feet	\$6.00	2.00/linear feet	\$	2.00	s	- \$0.00
Manufacturer Brand and Series Being Proposed:			Mannington		No Response				
45. New Stair Nosing only - Price to include all labor, material, supplies, and prep work required to install			8.50/linear feet	\$8.50	18.00/linear feet	\$	18.00	\$	- \$0.00 - \$0.00
Manufacturer Brand and Series Being Proposed:			Roppe		No Response				
		88	888	Page 48 of 53	8888		88	888	8888

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	VENDOR #7 Myelyn Contractors		VENDOR #8 CC & P Floor Covering		VENDOR #9	
	316 Teakwood Lane		3535 Henderson			
Opening Date: 02-Feb-2012	Lewisville, Tx 75067		Dallas, Tx 75372			
	Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax		Daniel Cruz 214.468.7752			
DESCRIPTION: Est. Qty.						
46. New Vinyl Stair Treads at least 12 – 1/4" deep only - Price to include all labor, material, supplies, and prep work required to install	6.50/linear feet	\$6.50	17.50/linear feet	\$	17.50 \$	- \$0.00
Manufacturer Brand and Series Being Proposed:	Roppe		No Response			
47. New Rubber Stair Treads at least $12 - 1/4$ " deep only: - Price to include all labor, material, supplies, and prep work required to install	6.50/linear feet	\$6.50	20.00/linear feet	\$	20.00 \$	- \$0.00
Manufacturer Brand and Series Being Proposed:	Roppe		No Response			
48. Carpet Stretching - Price to include all labor, material, supplies, and prep work required to perform these services	5.50/sq. yd.	\$5.50	8.00/sq. yd.	\$	8.00 \$	- \$0.00
49. Replace Carpet Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Carpet to be furnished by Dallas County)	5.80/sq. yd.	\$5.80	7.25/sq. yd.	\$	7.25 \$	- \$0.00
50. Repair/Replace Marble Tile Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Marble Tile to be furnished by Dallas County)	6.50/sq. ft.	\$6.50	6.25/sq. ft.	\$	6.25 \$	- \$0.00
51. Repair/Replace Terrazzo Tile Only - Price to include all labor, material, supplies, and prep work required to perform these services (Note: Terrazzo Tile to be furnished by Dallas County)	6.50/sq. ft.	\$6.50	6.25/sq. ft.	\$	6.25 \$	- \$0.00
52. Removal of existing vinyl tile flooring, base, reducer	1.50/sq. ft.	\$1.50	2.00/sq. ft.	\$	2.00 \$	- \$0.00
strips, transition strips and stair tread (only).	10004	ψ1.5 V		Ψ		4
53. Removal of existing carpet, base, reducer strips transition strips and stair tread (only).	1.50/sq. yd.	\$1.50	6.25/sq. yd.	\$	6.25 \$	- \$0.00 - \$0.00
	*****	Page 49 of 53	>>>>×		***************************************	8888

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services Opening Date: 02-Feb-2012	f		VENDOR #7 Myelyn Contractors 316 Teakwood Lane Lewisville, Tx 75067 Laura Vincent 214.418.0936/469.437.130	0		VENDOR #8 CC & P Floor Coverin 3535 Henderson Dallas, Tx 75372 Daniel Cruz 214.468.7752	ng			VENDOR #9			
DESCRIPTION:	Est. Qty.		214.256.3632 fax										***
54. Disassembly and Reassembly of Modular Furniture	50	hours	\$	12.00	\$600.00	s	200.00	\$	10,000.00	\$	-	\$0.00	
55. Labor Rate for Removal and Replacement Of Office and/or Classroom Furniture Only	50	hours	\$	12.00	\$600.00	s	150.00	\$	7,500.00	\$	-	\$0.00	
56. Labor Rate for Floor Covering Services not specified under this contract	50	hours	\$	28.00	\$1,400.00	s	150.00	\$	7,500.00	\$	-	\$0.00	
57. Minimum Service Charge for any Flooring Service - Note: Dallas County will pay the minimum service charge fee or unit price for each service request whichever is greater (but not both)	150	each	\$	175.00	\$26,250.00	s	500.00	\$	75,000.00	\$0.000		\$0.00	
58. Parts, Supplies and Materials – Markup: Only applicable to parts, supplies and materials not specified under this contract and not part of standard floor preparation and installation services in accordance manufacturer guidelines as stated in the bid requirements. No other additional costs and/or surcharges of any kind will be allowed.													
Total Estimated Dollar Amount: \$2,000.00													
Contractor Cost plus + Mark-up (to include overhead and profit): % Note: A copy of the actual Contractor's invoice(s) from his/her supplier for such parts, supplies and materials shall submitted with the Contractor's invoice for payment no other additional cost and/or surcharges of any kind will be allowed. Failure to provide the required documentations will result in non-payment and/or delay payment. All freight/transportation charges (when applicable) associated with this category will be treated as pass thru cost with no mark-up. No additional costs of any kind will be allowed.	e		15.00%		\$2,300.00	20.00%		\$2,400.					

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f	VENDOR #7 Myelyn Contractors		VENDOR #8 CC & P Floor Covering		VENDOR #9	
, ,		316 Teakwood Lane		3535 Henderson			
Opening Date: 02-Feb-2012		Lewisville, Tx 75067		Dallas, Tx 75372			
		Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax		Daniel Cruz 214.468.7752			
DESCRIPTION:	Est. Qty.						
59. Subcontractor Services (Services performed by third party on behalf the awarded Contractor). Note: Double billing is not allowed for the same services in connection with the project.	n						
Total Estimated Dollar Amount: \$2,000.00							
Subcontracted Services Cost plus + Mark-up (to include overhead and profit): % Note: A copy of the actual Contractor's invoice(s) from the authorized/approved subcontractor must be submitted with the awarded Contractor's invoice for payment. Failure to provide the required documentations will result in non-payment and/or delay payment. No additional costs of any kind will be allowed. Dallas County will not pay for duplication of services under this category.	2,000	15.00%	\$2,300.00	20.00%	\$2,400.00		
Total			\$153,971.00		\$261,097.50		\$0.00
Specify any additional comments/cost/etc. included with your bid proposal, if applicable:		NA		No Comments/Response			
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:		NA		No Comments/Response			
Specify Prompt/Early Payment Discount Terms		-		-			
Please answer the questions listed below							
Product Information - Refer to Section 3.15 for detail specification requirements							
Trowelable Leveling and Patching Compounds - Specify Manufacturer/Brand/Series Being Proposed:		Martin Asphalt Co.					
Concrete Slab Primer - Specify Manufacturer/Brand/Series Being Proposed	s	#204 Everlock Primer		Cumstom			
			Page 51 of 53				

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation of Carpet, Tile and Various Floor Covering Services	VENDOR #7 Myelyn Contractors	VENDOR #8 CC & P Floor Covering	VENDOR #9				
	316 Teakwood Lane	3535 Henderson					
Opening Date: 02-Feb-2012	Lewisville, Tx 75067	Dallas, Tx 75372					
	Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax	Daniel Cruz 214.468.7752					
DESCRIPTION: Est. Qty.							
Grout - Specify Manufacturer/Brand/Series Being Proposed:	Laticrete Slectral Locj Pro Grout	Cumstom					
Portland Cement - Specify Manufacturer/Brand/Series Being Proposed	Mapei, Laticrtet 3411018	Quick Krete					
Aggregate Sand - Specify Manufacturer/Brand/Series Being Proposed	AS&G Concrete Sand	Quick Krete					
Did your company check Dallas County website (http://www.dallascounty.org/department/purchasing/curre ntbids.html) for any addendums, updates, and/or changes to the bid solicitation?	Yes	No Comments/Response					
Reference Information Enclosed	Yes	No Comments/Response					
Specify the name, telephone number and email address of the account representative who will be handling and managing this account: Note: It is the responsibility of the awarded bidder to notify Dallas County of any account representative and/or contact person changes.	1) Farrell Porter, 214.418.0936, zolinconstruction@gmail.com, 2) Alternate: Eusebio Rios, 214.704.9053, zolinflooring@yahoo.com	Daniel Cruz 214.468.7752					
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract?	Yes	No Comments/Response					
If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?							
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?	Yes	No Comments/Response					
Page 52 of 53							

TABULATION SHEET 2012-038-5904 Annual Contract for the Installation o Carpet, Tile and Various Floor Covering Services	f	VENDOR #7 Myelyn Contractors	VENDOR #8 CC & P Floor Covering	VENDOR #9
1 /		316 Teakwood Lane	3535 Henderson	
Opening Date: 02-Feb-2012		Lewisville, Tx 75067	Dallas, Tx 75372	
		Laura Vincent 214.418.0936/469.437.1300 214.256.3632 fax	Daniel Cruz 214.468.7752	
DESCRIPTION:	Est. Qty.			
Information on Provision of Health Insurance				
Coverage for Employees Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation				
process (see page 5, paragraph 5). Please complete the information below to assist in this evaluation.				
a) Does your company provide health insurance coverage to its employees?		Yes	No Comments/Response	
b) If your company does provide health insurance coverage to its employees, does the company share in the cost a	e		No Comments/Response	
minimum of: 90% for employee only coverage?		No		
65% for family coverage?		Yes		
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services		Yes	No Comments/Response	
provided by Dallas County as described in the attached summary plan description? (See Attachment - A)				
d) If your company plans to utilize subcontractors in the		No	No Comments/Response	
fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that				
compares to Dallas County's health insurance coverage and share in the cost?	d			